
�8кол49 АлекEее68G �екD4Eо6 — 

8Eт8==о =4Dод=O9 поQт 8 8Eт8==о 
DуEEк89 Gело6ек, 6Eе< EеDдFе< 8 6Eе9 
дуHо9 лN5OI89  оEE8N, Fе=OI89 8 
7=4NI89 ее, к4к Dод=уN <4тP. �ел8к4 
6 т6оDGеEт6е �екD4Eо64 те<4 DуEEко9 
пD8DодO. �оQт 6ODоE =4 пD8Dоде, 5Oл 
6оEп8т4= еN, по7=4л 6EN ее л4Eку 8 

до5Dоту 8  8<ел пD46о 7о6оD8тP о =е9, 
к4к о Dод=о9 <4теD8. �Dо876еде=8O 
�.А. �екD4Eо64 тDо74Nт 74 E4<Oе 
Gу6Eт68телP=Oе EтDу=O дуH8: лN5о6P, 
EоEтD4д4=8е, EоGу6Eт68е, 
EопеDе6864=8е, у<е=8е 68детP 
кD4Eоту 8 D4до64тPEO е9. �е6=ое 
от=оHе=8е 46тоD4 к DуEEко9 пD8Dоде 
пDоE<4тD864етEO 6о 6Eе< е7о 
т6оDGеEт6е.  

� Eт8Eот6оDе=88 «�а Волге» �.А. 
�екD4Eо6 оп8EO64ет E6ое детEт6о. 
�оEпо<8=4=8O о5 Qто< =е6=о< 
6о7D4Eте =еD47DO6=O у поQт4 E 
6оEпо<8=4=8O<8 о пD8Dоде теE <еEт, 
7де пDоEод8л8 е7о <олодOе 7одO: 

 

«Я DоE, к4к <=о78е, 6 7луH8, 
 

' 5еDе7о6 5олPHо9 Dек8, 
 

�де л8HP кD8G4л8 кул8к8, 
 

Шу<ел8 7луEо к4<OH8...» 

 

�ео5OG49=о тDо74телP=O EтDок8 Qто7о 
Eт8Eот6оDе=8O, 6 котоDOE 46тоD 
пD87=4етEO 6 лN568 Dеке �ел8ко9: 

«О �ол74!& колO5елP <оO! 
ЛN58л л8 кто те5O, к4к O? 

Од8=, по утDе==8< 74DO<, 
Ко7д4 еIе 6EU 6 <8Dе Eп8т 

� 4лO9 5леEк ед64 EколP78т 

�о те<=о-7олу5O< 6ол=4<, 
Я у5е74л к Dод=о9 Dеке. 
�ду =4 по<оIP к DO54к4<, 
К4т4NEP E =8<8 6 Gел=оке, 
�Dо6у E Dу6Pе< по оEтDо64<. 
&о, к4к 87D4NI89 76еDок, 
! 6OEоко9 кDуG8 =4 пеEок 

!к4GуEP, то 5еDе7о< Dек8 

�е7у, 5DоE4O к4<еHк8, 
� пеE=N 7Dо<куN поN 

�Dо уд4лP D4==NN <оN&» 

�оQт  7о6оD8т о Dеке к4к о колO5ел8, 
8 к4<OH8 Hу<Oт длO =е7о 
колO5елP=о9, у54Nк864NIе9 пеE=е9. 
 

� Eт8Eот6оDе=88 «�елезная 
дорога» 46тоD E=о64 6оEтоD6е==о 
от7O64етEO о Dод=о9 EтоDо=е 8 
пD8Dоде. «!л46=4O оEе=P» — 

6ел8колеп=O9 о5D47еF пе9746=о9 

л8D8к8 �екD4Eо64.  �оQт 6 поDO6е 
6доE=о6е=8O <о7 Eо7д464тP 
уд868телP=о пDоGу6Eт6о64==Oе 8 

7лу5око л8D8G=Oе Eт8Eот6оDе=8O: 
 

«!л46=4O оEе=P!  
�доDо6O9, OдDU=O9 

�о7дуE уEт4лOе E8лO 5одD8т; 
ЛUд =еокDепH89 =4 DеGке EтудU=о9 

!ло6=о к4к т4NI89 E4E4D ле68т; 
Около леE4, к4к 6 <O7ко9 поEтел8, 
�OEп4тPEO <о6=о — поко9 8 
пDоEтоD! 
Л8EтPO по5лек=утP еIU =е уEпел8, 
�елтO 8 E6е68 ле64т, к4к ко6UD. 
!л46=4O оEе=P! �оDо7=Oе =оG8, 
ЯE=Oе, т8E8е д=8& 

�ет 5е7о5D47PO 6 пD8Dоде! � коG8, 
� <оEо6Oе 5олот4, 8 п=8 — 

�EU EоDоHо под E8O=8е< лу==O<, 
�ENду Dод8<уN  уEP у7=4N&» 



�8кол49 АлекEее68G �екD4Eо6 
6оEпе64л К4D458Eу! Это 8<е=8е  
=4Eод8тEO 6 ЯDоEл46Eко9 о5л4Eт8. � 

теGе=8е деEOт8 лет лN58л  о= 
пD8е764тP =4 лет=89 отдOE 8 7деEP 6е 

=4п8E4л луGH8е E6о8  Eт8Eот6оDе=8O: 
 

 «ОпOтP о=4, Dод=4O EтоDо=4, 
! еU 7елU=O< 5л47од4т=O< лето<, 
� 6=о6P дуH4 поQ78е9 пол=4& 

Д4, толPко 7деEP <о7у O 5OтP 
поQто<!» 

О5D47 DуEEко9 пD8DодO, 
=4D8Eо64==O9 �екD4Eо6O<, E8лP=о 
E4D4ктеD=O9. О=4 5O64ет D47=о9: 
л4Eко6о9 8 6еEтоко9, =о поQт лN58т 
ее 6о 6EеE пDоO6ле=8OE. ДлO 
�екD4Eо64 пD8Dод4 — Qто 
одуHе6ле==O9 пDед<ет, Qто дDу7 8 
<4тP, Qто то =епDеEодOIее, до5Dое, 
Gто 6EелOет 6 поQт4 =4де6ду 6 
5удуIее, 6доE=о6лOет е7о, 
поддеD6864ет 6 тDуд=уN <8=уту. 
 уEEк4O пD8Dод4 — Qто G4EтP 
«�4туHк8- уE8», котоDуN �екD4Eо6 
EеDдеG=о лN58т, 4 ко7д4 Gело6ек 
лN58т, е<у =8Gе7о =е EтOд=о 8 =е 
EтD4H=о. ЛN5о6P к DуEEко<у =4Dоду, к 
Dод=о9 7е<ле 8 пD8Dоде Eл864л8EP у 
�екD4Eо64 6 од=о Gу6Eт6о. �еG=о 

<8лO<8 к474л8EP е<у Eкуд=ое поле, 
кудDO6Oе 5еDе7O, Eтуде=Oе 78<O, 
64Dкое лето.  
!т8Eот6оDе=8O �екD4Eо64 о пD8Dоде, 
=ео5Oк=о6е==о ле7к8, о=8 =4п8E4=O 
к4к 5O =4 6доEе, опт8<8Eт8G=O 8 
E8лP=O E6о8< опт8<87<о<. �EO е7о 
л8D8к4 8 6Eе е7о т6оDGеEт6о 
пDо=8к=утO опт8<87<о< 8 6еDо9 6 то, 
Gто по5едOт лN5о6P 8 до5Dо: 
 

 

«�дет-7удет �еле=O9 Шу<, 

�еле=O9 Шу<, 6еEе==89 Hу<! 
�7D4NG8, D4EEод8тEO 

�дDу7 6етеD 6еDEо6о9: 
К4G=ет куEтO олPEо6Oе, 
�од=8<ет пOлP F6етоG=уN, 
К4к о5л4ко: 6Eе 7еле=о, 
� 6о7дуE 8 6од4, 

�дет-7удет �еле=O9 Шу<, 

�еле=O9 Шу<, 6еEе==89 Hу<!» 

 

 

 

 

�D4Gе6Eк4O D49о==4O 585л8отек4 

 

В%ЮДУ $ОД��УЮ $У%Ь 
У��АЮ& 

(поE6OI4етEO 200-лет8N Eо д=O  
Dо6де=8O �.А. �екD4Eо64) 
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